pet’

P

AR

© BAHEMRSE: 120°51/8 BAR

[ ~20CE+E5C,
AFRIAEREBE: ~40CH+80T, RAVitonFINGRH REH
10081/ Bit

RAWERERGREN, WSHETFR, kTR
® RAER, HHEKERHH

| R STLAEE LA AR
#0° 90" XMITHIEITES WM.
AHAEP160-4 sz&#&&qﬂﬁﬁ’tilﬁfﬁEﬂ(ﬁilﬁh*S WA, 8
ALEIAENER T ROEAARTLS

HRET, 53

® Fik: RIBEAERERSEEFAHREGRR
. wruﬁ% TR

i
. WQSF;*"{W&M?‘MIs%ﬁiﬂﬁh’mhﬂ RGWRAST

Ll

R ERR, RIET & AT R
. REEEL. RERGTATEMESN, BOwERATRILE
WA, N, ATHREMTATRER, RETABOTEAH RS
it

rhiﬁl!ﬂﬂﬁﬂ?{& ﬂkﬁﬁ

LI ’ilsmﬁ
TEHIE,

MENERER.

BRRE RITREE

©  BHEERETLNRRAL, TELTFNTERREER.
. o

© EMBHENG, ALUHEHERAN.

R HEH/MOUNTING OPTIONS

® WNREREN: ERTAISGRNTE
BHIAEN: AN ST

® HHERAL: HaNamriE

T

xﬁﬁ‘ﬁﬁmlt rxu&%imﬁrﬁ*‘ fE. &ﬁxﬁ“ﬁmﬁ

ﬂnmniunmwmmt
& B

% e

SET

© RSHMAMERBIHRIET i BIEMIER.
EEE

L}

TR RS ARG R G RA .

ANTI-BLOWOUT SYSTEM

Anti-Blowout System

. h FHOERER.
LR EBRT AT BUAIEV i tonFINNBRA A0 G 14

Closed Open

U= » (D
Nl € (EST

Reversed Rotation EIt§6M
ROTATION VARIATIONS




pet’
32,160,200,2703 & R R R 528125 iEM R HRT

FOR ACTUATOR MODELS 32,160, 200, AND 270 FOR ACTUATOR MODELS 52 THROUGH 125

Formos. W5 ana 125

DIMENTIONAL DATA &% R SMER
32,160, 200, 270MAR AR 2E R ~F

MOD ISO5211 CH A B C D E F GH I L M N O P ©Q R SISO7) T U V ®Z Y X
P32 F03 9 110 4522522565 45 1050 - 36 MSx75 -~ -~ 12118 — — 18 — — 121 9 16
P160 F1O/F12 274 522 187 87 100 218 188 30 80 130 125 M12x18 M10x15 102 32 35 815 14" 160 45 56 362 27 48
P20 F14 36 575218 109 100 269 239 36 80130140 M16x25 -  — 39 50 88 14" 190 515 64 482 36 64
P270  F16  46' 672 290 145 145 361 331 36 80 130 165 M20x30 —  — 52 50 121 14" 230 68 79 682 46 82

52F 125 MR KR
MOD 1S05211 CH A B C D E F G OH® L M N O P QRUNC) SUNC) T U V oZ Y X
P s FONFOS 11 1395 71 30 41 695 20 895 12 44 80 30 12 2653 50 M5T5 M U & 38 141 11 12
P 63 FOS/FO7 14 A162 80.5 355 45 805 20 1005148 50 80 30 16 27.550 70 M6x8 M8x12 1/8" 8 41 181 14 16
P 75 FOS/FO7 17 207 945 42 525 97 20 117 18 63 80 30 19 35 50 70 M6x8 M8x12 1/8" 9 50 222 17 19
P 85 FOS/FO7 17 237.5 106 47.5 58.5 108.5 20 1285 20 63 80 30 19 42 50 70 M6x8 M8x12 1/8" 9 50 222 17 30
P100 FOTIFIO 17 2715 123 55 68 1215 20 1415 20 63 80 30 205 50 70 102 Mexd M1O<id U4 9 50 222 17 30
P115 FO7/F10 22 328 137 64 73 1415 30 1715 32 86 130 30 24 50 70 102 M8x12 M10x15 1/4" 145 22 282 22 39
P125 FO7/F10 22 366 148 68 80 1535 30 1835 32 86 130 30 24 61 70 102 M8x12 M10x15 1/4" 145 22 282 22 39

OPTIONAL KIT
FOR CLOSED
POSITION
ADJUSTMENT
MODELS
160-200-270




L4
pet ALY
TECHNICAL D/ATA

TERTIE
Type o 32 |52 | 63 (75 | 85 |100 (115 |125|160 (200 (270
AT EHRERE CCW|0.030.03 | 0.06 [ 0.12 | 0.20 |0.30 [0.53 | 0.83 | 1.15 [ 1.74 | 4.50
NG B4t hiEsE CW [0.03(0.04 [0.08 [0.12 [ 0.19 [0.27 [0.47 [0.66 [1.10 [ 1.70 | 4.50
RS hEsE g;v - |0.090.14]0.22 [0.31 [0.44 |0.83 [1.08 [1.75 | 2.38 | 4.50
GBSt HEdE gF‘g’ - [0.09]0.14|0.22|0.33|0.46 |0.78 | 0.90 [1.34 [2.19 [ 6.20

LR EARHET, 6bar#ESENTME

g 8
Model
32 |52 | 63 (75 | 85 |100 (115 | 125|160 (200 | 270
Type
DA90° 0.48 [ 1.05 [ 1.50 | 2.55 | 3.40 | 5.05 |8.00 |10.00|19.50(32.80(71.50
SR90° - [ 120 [ 1.80 | 3.20 | 4.30 | 6.55 |10.60|13.40|24.40|50.50|88.00]
=
v ﬁ Litres:1 litre=1000cm’
Model
32 |52 | 63 (75 | 85 |100 (115 | 125|160 (200 | 270
Type
R EHERE ccw| 0.04]0.10 | 0.19 | 0.36 [ 0.51 [0.79 [1.29 [ 1.63 |3.61 |5.70 | 15
GRSt HEst cw [0.030.13]0.23 | 0.4 |0.64 [1.00 |1.71 221 |4.76 [9.83 | 178
TR RESESR g}‘g - |0.11]0.19]|0.36 [0.53 [0.80 | 1.38 | 1.78 [3.52 | 7.58 | 15.5

To obtain the air consumption in Ni/min. multiply the value in the chart for the used parameters
thats to say for the supplied pressure and the number of stroke in a minte.




pet’

WA M &

W1k R

HERNTE

DOUBLE ACTING ACTUATOR

VISTO DA
SOPRA
Top view
“Cosnposton ~ Openposiion Cossdposion
s oL '

B B B ) /Air Supply pressure(bar)
5

i e [ ss e [ 7 [ o
| R fF A % {7 # W i 1 & /Torque outpul double acting actuators(Nm)
A s 2 s I
A “ 5 67 1 130 152
A 8 07 145 1 202 21 259
A 156 191 29 2 396 65
A s 351 a5 722 45
A5 414 504 686 | 867 95.8 1049 123 1412
| DAt00 65.7 798 108 1363 150.4 1646 1928 2211
| pats 1088 1322 1789 2256 2489 2723 319 3657
| oatzs 1433 174 2353 2966 3273 358 4193 4806
| oatas 21675 260.1 3468 4335 476.85 5202 606.9. 6936
Atg0 | 30 %0 w0 600 o0 20 a0 %0
DA200 | %62 675 900 1125 1237 1350 1575 1800
DA270 | 1304 is65 | 208 | 2608 69 | 3130 | 3es am

gz - e

Sprng setting. Spring setting.

g

s B
g )=t —
( o e won (85| [sr o
| e | e |5 enniny | covim | o |CF| o R
e Rl o 7 2 7 £ 8
1 i el 2 7 2§ 3
7 @[ 7 2 Eg
p Y 7 7 B
] o I 3 B 7 B

3 | %] B B




pet WIERNGEHER

BRI SHHIE (N M)
® er (MW 25Bar  3Bar 4Bar 5Bar  55Bar  6Bar 7 Bar 8Bar
2 0C 90C 0C 90C 0C 90C 0C 90C 0C 90C O0C 90C 0C 90C 0C 90C 0C 90C
MMD MMC MAD MAC MAD MAC MAD MAC MAD MAC MAD MAC MAD MAC MAD MAC MAD MAC

52 1 36 49 45 1.8 65 35 10.4 1.5

2 48 67 53 1.8 9.0 56 128 9.5

3 52 15 88 48 125 86 14.1 10.5 16.3 12

4 65 9.3 7.6 3.0 11.3 6.8 13.3 8.8 150 10.6 18.8 14.5

5 81 119 9.5 43 11.4 63 13.3 81 17.1 11.9 20.9 15.7
63 1 50 96 85 26 120 6.0 19.0 12.9

2 G012 10.5 3.4 17.5 10.0 24.2 17.0

3 80 145 15.9 7.9 22.8 14.8 26.2 18.2 29.6 21.7

4 9.6 17.2 15.0 5.2 21.2 12.0 24.6 15.5 28.1 18.9 34.9 25.8

SIN 251 22X 18.2 7.1 21.7 10.6 25.1 14.0 31.9 20.9 38.8 27.7
75 1 101 19.5 15 3.9 22.0 10.1 34.4 22.5

2 133 25.6 18.8 4.0 31.2 16.4 43.5 28.7

3 151 28.2 20.4 13.8 41.8 26.1 48.0 32.3 54.1 38.5

4 183 34.3 26.2 7.7 38.6 20.0 44.8 26.2 50.9 32.4 63.3 44.8

5 232 43.0 33.6 11.3 39.8 17.5 46.0 23.7 58.3 36.1 70.0 48.4
g5 1 161 27.3 21.5 7.8 31.5 16.7 50.0 33.8

2 19.9 33.7 27.5 10.4 45.8 28.5 64 46.6

3 243 40.8 41.5 21.3 59.4 39.5 68.5 48.6 77.6 51.6

4 281 471 37.3 15.0 55.8 33.2

5 36.3 60.6 47.0 19.3 55.6 28.8 65.6 37.8 83.8 55.9 101 74.1
100 1 24.6 44.6 36.0 40.1 50.2 24.2 78.4 52.5

2 326 58.9 42.2 9.9 70.5 38.1 98.7 66.4

3 359 63.7 67.1 33.3 95.4 61.6 109 75.7 123 89.9

4 439 78.0 50.1 19.0 87.4 47.3 101 61.4 115 75.5 143 103

5 552 97.2 76.1 281 90.2 42.3 104 56.4 132 84.7 160 112
495 1 41.0 74.4 61.3 18.4 84.7 41.8 131 88.5

2 507 94.4 74.9 21.8 121 68.5 168 115

3 60.8 108 111 54.7 158 101 181 124 205 148

4 706 128 101 34.8 148 81.5 171 104 195 128 241 174

5 90.4 161 128 47.8 152 71.1 175 94.5 222 141 268 187
125 1 531 99.1 80.2 21.2 110 5.9 172 113

2 633 17 100 33.5 162 94.8 223 156.1

3 811 148 144 63.9 205 125.2 236 155 266 186

4 91.3 166 134 45.5 195 106.8 226 137 256 168 318 229

5 119 216 167 57.5 198 88.1 228 118 200 180 351 241
160 1 100 152 186 126 245 188

2 141 225 198 116 317 234

3 173 264 170 74 200 193 407 311

4 200 321 260 136 378 255 437 312

5 252 376 330 191 388 251 447 310

6 300 473 355 161 395 220 512 332 627 445
200 1 174 245 362 270 472 387

2 247 356 398 273 621 498

3 208 424 344 192 568 425 789 649

4 353 531 510 317 731 541 842 650

5 421 602 655 447 767 562 878 675

6 521 776 662 396 777 510 994 721 1209 935
270 1 505 788 834 545 1100 819 1658 1368

2 606 946 726 379 1001 654 1550 1203

3707 1103 619 214 893 488 1442 1037 1991 1586

4 808 1261 511 48 785 323 1334 872 1884 1421 2158 1695

5 909 1418 678 157 1227 706 1776 1255 2050 1530 2325 1804

6 1010 1576 1119 540 1668 1090 1943 1364 2217 1639

7 1111 1733 1011 375 1560 924 1835 1198 2109 1473 2659 2022

8 1213 1891 904 209 1453 758 1727 1033 2002 1307 2551 1856 3100 2405




R AT

s
T MVSN-300-4E2CP.R|
i
i #
- o 2 [ 2 [ 3
i PF-1/4(PORT A,RLR2)
& AIR
1) 2-Tkgflem® [ 3-7kgtrem:
V) 10.5kgl/em?
Ak 35mm® 30mm:
B S0ms
S 5-50°C
Wk ACI10V,220V(50/60)Hz,DC24V
ot AC=6/4.9VA DC=25W
Py 4 AW RN £10%
T F CLASS
W 422 507g [ 764g

NPT
conpuIT ENTRY | o

050175

i yANN
3 ) feosen
. G .
(chao) 1
Al mws,,
® SR

(o)

X R NAMUR 8
; LTS
& MBP-100
z i/ MBP-200
x MBP-300
MBP-400

OB R <
THER 30X 80 h20
EX 1] 30X 80 h30
FHEH 30X 130 h30

FHEW 30X130 h50




